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Instructions for the candidates :-
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Candidate must enter his / her Question Booklet Serial No. (10 Digits)

in the OMR Answer Sheet.

2. Teefl I 319 Yeai B E SR < |

Candidates are required to give answers in their own words as far as

practicable.
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidate to read
the questions carefully.

IE YU T WU H T, WUS—3, US4 |

This question booklet is divided into two sections: Section-A,

Section-B
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In Section - A, there are 70 objective type questions, out of which any
35 questions are to be answered. If more than 35 questions are
answered, then only first 35 answer will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue/ black
ball pen against the correct option on OMR Answer sheet provided to
you. Do not use Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise

the result will be treated invalid.
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In section - B, there are 20 Short answer type questions, out of which
any 10 questions are to be answered. Each question carries 2 marks.
Apart from these, there are 06 long answer type questions, out of
which any 03 questions are to be answered. Each question carries 5

marks.

8. fhdl qRE & SlagiMed—3a BT YIRT Yuidar afsid |

Use of any electronic appliances is strictly prohibited.

EUus—3[ / SECTION - A

U GRIT 1 9 70 Tb & UId U9 & A1 IR Aoy v 7w & 98 3
% WA 2| AUH gRT g7 T Hal fadwed & OMR - ¥ W fafed & | &2l 35

Ui b IR < | 35x1=35

Question No.- 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR — SHEET. Answer any

35 questions. 35x 1=35
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(A) & (B) TE

(C) acx (D) ==
(A) Paddy (B) Wheat
(C) Pea (D) Gram

g9 W DI Thadl el ® ?

(A) I} (B) st

(C) &, (D) SRR =
Which of the following is annual crop ?

(A) Beet Root (B) Onion

(C) Wheat (D) Napier grass

g A B Tl B § ?

(A) =1 (B) 7%
(C) "t (D) it
Which of the following is pulse crop ?

(A) Gram (B) Wheat

(C) Maize (D) Barley

T8 W DI dolsd Bad © 7
(A) 512 (B) =1
(C) o (D) =T

Which of the following is oil seed crop ?

(A) Jute (B) Sugar Cane



(C) Sunflower (D) Gram

gTH ¥ P BICT dI9] dTell Bdd © °

(A) g (B) wahT
(C) acx (D) =4
Which of the following is small seeded crop ?
(A) Wheat (B) Maize
(C) Pea (D) Sarson
T | DI TN TS dlell ®¥el & ?

(A) & (B) arex
(C) g (D) *erebT
Which of the following is deep rooted crop ?
(A) Paddy (B) Arhar
(C) Wheat (D) Maize

§TH ¥ B HeMlel arell B © 7

(A) &) (B) &
(C) wmt (D) 3]
Which of the following is condiment crop ?
(A) Turmeric (B) Wheat
(C) Maize (D) Potato
STH 9 DIF g B T @l ol fhe g ?

(A) R (B) weaml



10.

11.

(C) wrfeeit (D) WeR <1
Which of the following is long duration variety of Rice ?
(A) Turanta (B) Sahbhagi

(C) Kamini (D) Sabour Deep

IRT &9 & BTl B 9T T & 2

(A) Sret (B) wady
(C) wal (D)
What is the harvesting time of Boro Rice ?

(A) April (B) January

(C) February (D) March

TRAT 919 B HeTs BT 9T FI7 § 2

(A) STHRI—HRaRT (B) HT—31irdt
(C) SFF—geme (D) SregaR—Tawr
What is the harvesting time of Garma Rice ?

(A) January-February (B) March-April

(C) June-July (D) October-November

g8 ¥ fhddT SUANT fa¥ge Se H gl © ?

(A) =1 (B) A

(C) =7 (D) g

Which of the following is used in Biscuit industry ?

(A) Gram (B) Pea



(C) Sugarcane (D) Wheat

12, 39 9 fHA®BT SUANT Uy 3MER 4 BIaT © 2

(A) T (B) =T

(C) ~xIgeh (D) e
Which of the following is used in Animal feed ?
(A) Linseed (B) Sugarcane
(C) Sunflower (D) Maize

13, IfdqEE—2 {6 Bt &1 gve & ?
(A) 7 (B) FawT
(C) g (D) et
Shaktiman-2 is the variety of which crop ?
(A) Gram (B) Maize
(C) Wheat (D) Linseed
14, FfY af w9 A BT ® ?

(A) IrFCER—-TaHR (B) d—wg

(C) 75— (D) e aR—oTTax)
When Agriculture year ends ?
(A) October-November (B) April-May

(C) May-June (D) December-January

15.  AZWR INTSfeTH Ul fhd BAT BT a-mfad a9 & ?

(A) =T (B) =



16.

17.

18.

(C) 1§, (D) &

Cicer arietinum L is the botanical name of which crop ?

(A) Sugarcane (B) Gram

(C) Wheat (D) Rice

<2l FFT & gars BT THI RAT © 7

(A) 01—30 3FdR (B) 01—30 TIq¥R

(C) 01—30 feqwR (D) 01— 30 STaR!
What is the sowing time of Desi Chana ?

(A) 01-30 October (B) 01-30 November

(C) 01-30 December (D) 01-30 January

Bl g4 H fhddT ITANT BIam § ?

(A) 7€, (B) T

(C) = (D) =71

Which of the following is used for chhola preparation ?
(A) Wheat (B) Maize

(C) Gram (D) Sugarcane
TR A B9 YRAT BT 8 °

(A) STTERI—RaT (B) #&—1T

(C) Ferd—srTe (D) Srarcav—Taway
When Kharif season starts ?

(A) January-February (B) May-June



19.

20.

21.

22.

(C) July-August (D) October-November

T8 I BT ITRad] Wdl bl SN0 & P

(A) ST—a1 (B) T + A

(C) AgdhT + IRER (D) =1 + 92T

Which of the following is example of Inter cropping ?

(A) Barley + Gram (B) Gram + Linseed

(C) Maize + Red gram (D) Sugarcane + Lady finger
T4 9§ DI AT @l &1 IareRr & 7

(A) =T + AT (B) #ahT + 3Te].

(C) =TT + aiTeL (D) st +

Which of the following is example of Mixed cropping ?

(A) Gram + Linseed (B) Maize + Potato

(C) Sugarcane + Potato (D) Maize + Green Gram

STH | I dgHolell WAl BT I&1eR © ?

(A) =TT + 3 (B) =T + i

(C) SR + 3RER (D) HapT + 3RER

Which of the following is an example of multi storied cropping ?
(A) Sugarcane + Green Gram (B) Gram + Linseed

(C) Sorghum + Red gram (D) Maize + Red gram
et geT &1 Wt va. A faer grar & ?

(A)7 (B) 7 ¥ 31fdrep



23.

24.

25.

(C)7 & &H (D) 37 ¥ BIg 2
What is the P.H. value of Acidic soil ?

(A)7 (B) More than 7
(C) Less than 7 (D) None of these

g BHd D Gl Siel MaeISHal b=l il g 7

(A) 28.0 H0OHI0 (B) 200 Ho#I0

(C) 300 010 (D) 500 H0OHI0
What is the total water requirement of wheat crop ?
(A) 28.0 cm (B) 200 cm

(C) 300 cm (D) 500 cm

& weT &1 fafad Sifsew ufoera fear gar g 2

(A) 15 ¥ 31fIH (B) 15

(C) 15 & &H (D) 3H & P ol

What is the exchangeable sodium percentage in alkali soil ?

(A) More than 15 (B) 15

(C) Less than 15 (D) None of these

AT H&T & GuIR & fory 399 | fovdaast SuanT favar <mar © 2

(A) RRe i drerer (B) =
(C) RiTTel guR ®Ihe (D) IR

Which of the following is used for reclamation of Acidic soil ?

(A) Muriate of Potash (B) Lime

10



26.

27.

28.

29.

(C) Single Super Phosphate (D) Urea

T ¥ o Y Aawmr & RaE & fofw sy Sugad € ?
(A) aftr fafe (B) 9 IR fafey
(C) ar<R fafr (D) & fafy

Which of the following method is most suitable for irrigation in maize?

(A) Basin method (B) Check Basin method
(C) Boarder method (D) Furrow method

T | B W® HIH P WRYTIR & 2

(A) STl terrs (B) cregsn

(C) el ST% (D) et i

Which of the following is Kharif season weed ?
(A) Wild Amaranthus (B) Lahasua

(C) Wild Oat (D) Peeli Senji

gTH ¥ 99U TRUGAR I © ?

(A) fa T (B) 1Rt
(C) UeR =cel (D) fou=y
Which of the following is Perennial Weed ?

(A) Vish Khapada (B) Dhatura
(C) Patthar Chatta (D) Pipari
ST 9 D Ud dIo—T3 ER-YdIR T ?

(A) =rerT G ERSE

11



30.

31.

32.

(C) w1y (D) &77H & ®Ig el

Which of the following is Monocotyledonous weed ?

(A) Motha (B) Bathua

(C) Makoy (D) None of these
STH 9 B a1 | UT B drell WRUGAR 8 ?

(A) faxorgd (B) Hrer

(C) @R wIeer (D) s

Which of the following weed reproduced by stem ?
(A) Hirankhuri (B) Motha

(C) Pathar Chatta (D) Dub

T4 & B9 dlel TN Tl WRUAIR © ?

(A) 92T (B) &«

(C) Hrerr (D) &7H & &g el
Which of the following is broad leaved weed ?

(A) Bathua (B) Dub

(C) Motha (D) None of these
T AR FT 8 ?

(A) BT (B) @It

(S EEREREIRGIN] (D) SdR&

What is butachlor ?

(A) Funijicide (B) Insecticide

12



33.

34.

35.

36.

(C) Weedicide (D) Fertilizer

T8 I P WRUGIR HFbT Bl | Bidl & 2

(A) ST (B) et

(C) w1 (D) g,
Which of the following weed found in Maize crop ?
(A) Bhangda (B) Sawan

(C) Makoy (D) Bangehu

el R a1l BT JANT b Byl § 8Iar g 2
(A) == (B) HeRpT
(C) & (D) #iex
Blue green alge is used in which crop ?

(A) Gram (B) Maize
(C) Rice (D) Pea
§TH ¥ BIF BAA 89 WIS & folg SUIRM § ?

(A) HapT (B) wIR
(C) Ss< (D) =71
Which crop is useful for Green manuring ?

(A) Maize (B) Sorghum
(C) Black Gram (D) Sugarcane

T pERe ¥ fhaer STIRT Biar § ?

(A) T (B) wgar

13



(C) <frer (D) arHT

Which of the following is used for vermi compost ?

(A) Lead (B) Earthworm
(C) Iron (D) Copper
A {5 @& SId BT MHR I 2 |

(A)1 ¥ 2 =0 (B) 1 20 b
(C)2 ¥ 4 B0 (D) 4 20 ¥ 1fddH

Marginal farmer has land holding of .............

(A) 1 to 2 hectare (B) Up ot 1 hectare

(C) 2 to 4 hectare (D) More than 4 hactare
AEHRY I Wil § g &1 W@ BICT 2 |

(A) eafaTe (B) wrfe®

(C) (A) T (B) =i (D) 3% | PIS &

In Co-operative better farming ownership of land is ..............
(A) Individual (B) Collective

(C) Both (A) and (B) (D) None of these

$TH 9§ DI W] BT JIdr] & T © 2

(A) 3 (B) et
(C) T (D) TR
Which of the following is Sub tropical fruit ?

(A) Guava (B) Banana

14



40.

41.

42.

43.

(C) Papaya (D) Grape
STH | B AST@Tel Feoll 8 ?
(A) e (B) BRaT

(C) 3tre (D) <HIeR

Which of the following is summer season vegetable ?

(A) Cauliflower (B) Bittergourd

(C) Potato (D) Tomato
T4 ¥ DI ST drell Heoll & ?

(A) el (B) eHTR
(C) &= (D) e

Which of the following is root vegetable ?

(A) Radish (B) Tomato
(C) Brinjal (D) Pea
CHTCR &1 WM AT 9RT ... 2|

(A) T (B) w1

(C) ®et (D) €

Edible portion of Tomato is .............
(A) Stem (B) Fruit
(C) Flower (D) Seed

9 W B HIATAT dTell BT & ?

(A) STRT (B) 3reg

15



44.

45.

46.

(C) (D) eHreR
Which of the following is spice crop ?
(A) Cumin (B) Potato

(C) Brinjal (D) Tomato

g4 A DIF AU J&T & oIy SUYad Bl © 7
(A) S S ERIEIS

(C) 3SR (D) sifga

Which of the following is suitable fruit for salt affected soil ?

(A) Bael (B) Pineapple

(C) Fig (D) Aonla

gTH W DI Bl B IO & 2

(A) 34 (B) 3o
(C) Pem (D) ¥4
Which of the following is king of fruits ?

(A) Mango (B) Guava
(C) Banana (D) Apple
A1e1es b Bl ol fbe g ?

(A) BT (B) ®

(C) s (D) erec
Maldah is the variety of which crop ?

(A) Banana (B) Ber

16



47.

48.

49.

50.

(C) Mango (D) Guava

HADhdl fhd &t &1 G (family) © ?
(A) 3 He (B) gdrar
(C) et (D) 3FTT

Caricaceae is the family of which fruit ?

(A) Guava (B) Papaya
(C) Banana (D) Pneapple
Fi B Sy 59 o @ fhe B ?

(A) TeraT (B) R
(C) et (D) ¥4
Coorg Honey Dew is the variety of which fruit ?
(A) Papaya (B) Cononut
(C) Banana (D) Apple
AR {59 wat &1 o (family) € ?

(A) TeraT (B) erog
(C) werr (D) sm=
Myrtaceae is the family of which fruit ?

(A) Papaya (B) Guava
(C) Banana (D) Mango
gTH A fhABI ST 91ell &7 Il 999 H BT § 7

(A) 3mH (B) aifaetr

17



51.

52.

53.

(C) 3rros (D) ®ern
Which of the following fruit is used for hair oil ?
(A) Mango (B) Aonla

(C) Guava (D) Banana

TJeddN g Bl BT o 2 ?
(A) TTRI (B) sifaet
(C) ¥« (D) &R

Chandra Shankar is the variety of which fruit ?

(A) Coconut (B) Aonla
(C) Bael (D) Ber
ST W RATITST et @ o B & 7

(A) TSR (B) gP=R
(C) ame (D) eATeR

Which of the following plant is from Chenopodiaceae family ?
(A) Carrot (B) Beet root

(C) Potato (D) Tomato

g8 ¥ T defe T AlelH TYSRH Td © 2

(A) TR (B) Tl
(C) 3re (D) <HIeR

Which of the following crop has scientific name Solanum tuberosum L ?

18



54.

55.

56.

57.

(A) Carrot (B) Radish
(C) Potato (D) Tomato
STH | g9 NS 59 wad @ fem g ?

(A) 3ref (B) @t
(C) Tett (D) TSR

Which of the following crop has variety Pusa Red ?
(A) Potato (B) Onion

(C) Radish (D) Carrot

g4 9 fraa! faamadt S Fed 7 ?

(A) oY (B) smmeg

(C) o= (D) werinfl
Which of the following is Known as Bilayati Baigan ?
(A) Tomato (B) Potato

(C) Chilli (D) Cauliflower
RISl | feaa) fos g 2

(A) arreg (B) B

(C) fad (D) &7
Rajendra Sonia is the variety of which crop ?

(A) Potato (B) Turmeric
(C) Chilli (D) Brinjal

QW fod wda a1 foe g 2

19



58.

59.

60.

(A) afrar (B) er<x®
(C) 3tre (D) eHIeR
Surabhi is the variety of which crop ?

(A) Coriander (B) Ginger

(C) Potato (D) Tomato

gTH ¥ B HIA Bkl ol BT & ?

(A) #eit (B) gfvra

(C) gel (D) 3TaR®

Which of the following crop is from fabaceal family ?
(A) Fenugreek (B) Coriander

(C) Turmeric (D) Ginger

g A DI AT dTell Bad & 7

(A) TetirT (B) atre,
(C) HNal (D) eHrex
Which of the following is spice crop ?

(A) Cauliflower (B) Potato

(C) Mangaraila (D) Tomato
g1 | DI QT DI IS [ g ?

(A) 3T gl (B) gaT W8 R
(C) g&T THBR (D) g1 =T

Which of the following is commercial variety of Marigold ?

20



61.

62.

63.

64.

(A) Pusa Basanti (B) Pusa Sadabhar
(C) Pusa Chamatkar (D) Pusa Nanha
T ol B IUART fHar Srar 2 —

(A) T (B) Tetear

(C) ot (D) &t

Use of Marigold flower is/are ...............

(A) Garland (B) Bouquet
(C) Worship (D) All
frforRad § @i diem | aler g ?

(A) Tetta (B) TeraTSal
(C) Hrdi (D) seferan

Which of the following Plant is aromatic Plant ?
(A) Rose (B) Chrysanthemum

(C) Mentha (D) Dahlia

TeifeATerd fhd gol &I dlem 7 ?

(A) ror¥T (B) 3R
(C) wewm (D) SR
Gladiolus is the flower of which family ?

(A) Rosaceae (B) Iridaceae

(C) Rutaceae (D) Compositeae

[ARTSAl & PR Bl [bd A8 H IR Sl 2 2

21



65.

66.

67.

(A) BRII—HTd (B) RiavaR — araca”
(C) Si—ere (D) ala—Hg

Sucker of Chrysanthemum is Planted in which month ?

(A) February-March (B) September-October

(C) June-July (D) April-May

(A) et (B) ToTma

(C) TifarerE (D) Tefersed

Which of the following is “King of flowers” ?

(A) Marigold (B) Rose

(C) Gladiolus (D) Chrysanthemum

gTH ¥ B DS & oy UG & °

CVEEISRIEE (B) TRTSET

(C) e (D) T

Which of the following is suitable for Gulkand ?

(A) Gladiolus (B) Chrysanthemum

(C) Rose (D) Marigold

9 | P AR TP BT IGTERT © 2
(A) T8 UG B 9HT (B) gers faasd
(C) <eifas (D) ~fean

Which of the following is example of Personal contact ?

22



68.

69.

70.

(A) Home and farm visit (B) Farm Day

(C) Television (D) Radio
$TH 9 DI T IR 7 ?

(A) Telifas (B) Xfear

(C) =ré (D) =R

Which of the following is Audio-Visual Aids ?
(A) Television (B) Radio

(C) Chart (D) Poster

STH A DI el & oy Suged © ?

(A) Becgd (B) &R
(C) ameg (D) aefr
Which of the following is suitable for Jelly ?
(A) Jack fruit (B) Ber
(C) Guava (D) Banana
T A DI e & oy Suge € ?

(A) 3rmeg (B) s
(C) 3rod (D) R
Which of the following is suitable for chips

(A) Potato (B) Mango
(C) Guava (D) Ber

#Jr— 11 /Part- |l

23



g 3aad ys / Short answer type qguestions

U T 1 W 20 Tb Y STRIY © | fbgl 10 Ul P SR o | YD U & forg
2 3 feriRa & (10x2=20)

Question no. 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. (10x2=20)

1. TIWell & g3 BT §HI KT & 2

What is the sowing time of Groundnut ?

2. dNI/OREl & SUART Bl ford | 2

Write uses of Tori/Sarson

3. =T & o @A o1 fored | 2

Write two varieties of Sugarcane.

4. Rra=r aReEx 1 <1 i & a9 ford | 2

Write two names of varieties of September Arhar.

5. 9ghdcid YUl @1 § ? 2
What is multiple cropping system ?

6. A USfd ®T 7 ? 2
What is Cropping Pattern ?

7. AIUI-aRE g 1 © ? 2
What is saline-alkali soils ?

8. WG 37l & &I UEl Bl (o1 | 2

24



10.

11.

12.

13.

14.

15.

16.

17.

18.

Write two effects of soil acidity.
31 AT IUANT & A W T g9l Bl ford |

Write two overliming effect on soil.

g Edl & oIy Sugay &l dbieArRl Ud BharRl & 7F ford |

Write names of two insecticide and funjicide used in organic farming.

Sfde el & a1 o™i bl o |

Write two benefits of organic farming.

HotH T T 7 ?

What is Grafting ?

<ifreh gaeid & <& g1+l &l forsd |

Write two disadvantages of sexual propagation.

g & SYANTT BT ford |

Write uses of citrus.

oSN O

fTIh— & SUARTT Bl ford |

Write uses of Elephant foot.
Heq T Al & 1 ™ ford |
Write two names of cucurbitaceae vegetable.

G dcT & ol Suged &l |al & M ford |

Write the names of two flowers suitable for scented oil.

ifedTerd & g fos & 7 ford |

Write two names of varieties of Gladiolus.

25
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19.

20.

a1 el digl & M o | 2

Write names of two medicinal plants.

Tl [ SYBNUN &b ATH o | 2

Write names of two Audio Aids.

&1l 3o 939 (Long Answer Type Questions)

U9 ORAT 21 W 26 db <" ST BIfc & U & | 3989 9 fbl 3 UvHl & SR

3| U¥% 9 & foY 5 3 FEiRd € | (3x5=15)

Question no. 21 to 26 are Long answer type questions. Answer any 3 of

them. Each question carries 5 marks. (3x5=15)
21.  HIH! DI Wl b1 FAfalRad el § goi= o - 5
(@) HHx uve (b) fared
(c) @d & I d) 91 =

22.

(e) Riars vd o1 yaed

Describe the cultivation of Maize under following heads :

(a) Hybrid Varieties (b) Soil

(c) Land Preparation (d) Seed Rate

(e) Irrigation and water management

3RBR B Wl BT fforiad el d goid & | 5
(a) demfe =T (b) @B B¥reT B dIT

(c) a1 &1 & (d) SR®

26



23.

24,

25.

(e) sust

Describe the cultivation of Red gram (Arhar) under following heads:

(a)Scientific name (b) Seed Rate for Kharif

(c) Planning distance (d) Fertilizer

(e) yield

faeR g & i fawrg § BiY &1 9iiaRT &1 auie o | 5

Describe the contribution of agriculture in economic development of

Bihar.

DAl Bl Wl BT FreaferRad el § aoi & 5
(@) U @ T (b) @ Td IRD

(c) Ri=ms (d) @WRUTaR =0T

(e) Sust

Describe the cultivation of Banana under the following heads:

(a) Planting time (b) Manure and fertilizer

(c) Irrigation (d) Weed Control

(e) Yield

TS BT WAl BT FreAfTRad 2iuel § goi o 5
(@) Sietary (b) s=1a forst

(©) W @F TN (d) @re vd Sdveh

(e) Ri=ng

Describe the cultivation of Onion under the following heads:

27



26.

(a) Climate (b) Improved varities
(c) Land Preparation (d) Manure and fertilizer

(e) Irrigation

T B AP Wl BT goie B | 5

Describe the scientific cultivation of Marigold.
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